[fRé2 - BakiEER]

. | SRR RiThie HERS HERS
HEBRFRESER s SEE REM | QRESEOD | el S| ey, | CROREO | B
EROIZ ) % @
() (M) () () (M)
A B B—A B+A
NERRR [T —EXE>5-0OF) IR 45.4 1,134 100 150 50| 150.0%
FAY—ER>H—ER = 50.1 1,101 150 200 50| 133.3%
FAY—EXE>H-0FEDD IR 34.9 873 150 200 50| 133.3%
29.1 661 100 150 50| 150.0%
FTAH—-ERE>H—-=KFE 34.0 851 150 200 50| 133.3%
FAY—EIEH—=KEK 38.9 972 200 200 0[ 100.0%
FTAH—-ERtE>H—-=K1t 28.4 644 100 150 50| 150.0%
FTAH—-ERtE> A —-BEI R 76.1 1,674 250 300 50| 120.0%
124.3 2,536 400 600 200/ 150.0%
52.3 1,150 150 200 50| 133.3%
28.4 644 100 150 50| 150.0%
BUEE | SEERELTES Y — 56.0 1,232 150 200 50| 133.3%
35.0 875 100 150 50| 150.0%
35.0 875 100 150 50| 150.0%
119.0 2,428 350 500 150| 142.9%
56.0 1,232 150 200 50| 133.3%
42.0 1,050 100 150 50| 150.0%
42.0 1,050 100 150 50| 150.0%
— |EEERaREw -
fEERUER HEE=DE 80.3 1,767 200 300 100| 150.0%
ISR [(HaREEttE> 5 — HE= 111.0 2,264 500 600 100| 120.0%
REROE 111.0 2,264 500 600 100| 120.0%
REE (1) 55.0 1,210 200 300 100| 150.0%
=EE (26 55.0 1,210 200 300 100| 150.0%
A 54.0 1,188 200 300 100| 150.0%
HEEE 54.0 1,188 200 300 100| 150.0%
SlgREutE>5— SKEEN(DZ21=57a0/R—)L) 98.4 2,164 500 300 A 200| 60.0%
EZrR KEE2(DZ1=57a0/R—JL) 53.5 1,178 200 300 100| 150.0%
FERRIBALER SREI(Z-Fa>JI—L) 31.1 776 200 200 0[ 100.0%
REROE 132.8 3,002 500 600 100| 120.0%
MB(EZF—IL—L) 95.0 2,090 200 300 100| 150.0%
N—=>2)—A 151.9 3,099 — 600 — —
5,939 — 1A1E 200 — —




